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#1. Write the linear system in matrix form:

#2. Write the linear system in matrix form:
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~#4. Write the given system without the use of
matrices: :
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#6. Verify that the vector X is a solution of the
given system.
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#7. Verify that the vector X is a solution of the
given system:
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#8. Verify that the vector X is a solution of the : N
given system'
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#1. Find the general solution of the system:

Q Find the general solution of the system:
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) #3. Find the general solution of the system:
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#4. Find the general solution of the system:
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#5. Find the general solution of the system:
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. #6. Solve the initial-value problem: ‘ . '
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#1. Find the general solution of the system:

#2. Find the general solution of the system:

)—;_—13} —-» 3
T3 s 3

(=N (M7
Jon U e
(%-Dr-2) =

)‘/Z_ (r(,ar%f"!)

=1

- & - .
(-2 7 =7

[5 2l ul3
- 3 3 vrﬁ“ ‘
% a( )

[a ——! A

=

7#}”%

o égw@az} {'! f)[




#3 .Find the general solution of the system:
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#4. Find the general solution of the ﬂﬁ?:
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#5. Find the general solution of the system;
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) #6. Solve the initial-value problem:
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#2. Flnd the general solution of the system:

po[t S|z Jixn
X{S —4})( / s A@l

(oy)li-D4z5=e N=o£3e

E rNra=e
% =p+3C
Fi‘—lwwc) — 0~
s -l o
[V’%d -5 } o
~> "S’t— o —0rr T S— —(q‘}"iezfz
(Y4Y-2¢ |L' 2 = -« ﬁ%‘: -

KL - S’ ?:'i
(F. ’7"’ £) (f(‘f'?:‘)

[‘f’%] "“[} - wﬁ}
J( Lajen %«Z }smt’)ﬁ

a- Um&fw%ﬁ fw‘)ﬁ?

([S—)wx?ef L”%}«»Mé«) x
(g 3 feest + [ § Jsh3t)

Qr -

=C [ o3 ;‘;“‘:f $ th%’wl{{l[—%o—:?&-k‘( SM?&]

P
M
J

Y

{

(e, B (w SN

[ Bel3] % &=(2]

\( ({ Jesswt =

- %“}ﬁf“%“)ﬁ?%‘,v
Yo Al }}cﬁsae»—;» [

g.. e (Y { Yot~ 2 J5i0%)

}V}mﬁﬂ:«i’- ! *{ m“}é)

g (,
- .«-«w’-"""‘-—/
e 4D € R -
. Buot Bt S j |
y [loo;%w% PAL }’i“‘:a[ i e jl
et ..-»«W-“‘“

g




#3. Find the general solution of the system: . _ 4 SN [ Dot y=o ( N= ‘”l)
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#4. Find the general solution of the system:
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#1. Use the method of undermined coefficients to
solve the system:

| - _o GfERtEET
§=2x+3y—7 ' —)?7[;[1 k- }Y%Z;] li‘ﬁ,,:«).. =2 :. )' oo
-z . | B
D ayes | yo, 2
X=1 X =" | | R
(2l [l GeafleellE
[—'(\; z) (E”ii;?
' et
nas) [l
=0 -7 k= 5k Kl 20 216 “-f-'”‘*f_ﬂ
f i;i}g&; «3¢ ) [ ’] (62,0 C1et) {B
R — A —-'-7?;.. t -
~ [7] ;[ 1= = 3 =zo f 2443877
2AV3ZE - S‘“: S SIS
[o] 544}5 J* i } e ("L;,A,
g et (LT
: -

..sa iﬁ«!]




~

> 1 .3]= |-2¢
oY X+ 2t
3 1 r+5

#2. Use the method of undermined coefficients to
solve the system: len ® \ (i /\)( )) - W@;
T

>

A=Y, KT

=2 2zt
+% B "‘3\‘. P SH
[ H?f’ZDJ [ 3 1y lo e

: g,géj iwz 2 1] Yo =G/

wfp =8 TR
() (pryz

=

[

-{
!

}é;“?{‘ «l’le 76’

Y&



#3. Use the method of undermined coefﬁc1ents to
solve the system:
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#4. Use the method of undermined coefficients to
solve the system: '

1 11 1 RS S P @
4 — - _ ot
X' =0 2 3iX+ -1 e4l 4 Z ) »

,-7\) [ [Zr-}a)/ 5 ’}\) ..07 - ( ,,‘w) ;;—D / N) |

+ o o A
0 0 5 21 A [ )&"'th\,
>S = ;___Z_“_ }\3 .
{ ® _ \ \
TR M -zt ° = L e
{ o 2 2 o 5 > o
o o S0 o 2 o O T
r § ¥ o ~ 1 § oy Y _ { i g
3] [risli [Tl
o o Y0 o o 21° o = °
et pret et
o » <7} o =t o
i 0 o § "‘“( g l é o |
[/ o | {a , o - O } i [ ‘ -] .
> o0 lO o © o 10 j > o o
\ . ’
K, =2 (63;0 T4 . :‘!9«4\&3“5& l/— = —7 ¥, =Yz ¥z
( K { E)) [ { } w%"?‘; \ 7 ! LL ‘L5 — o le =3
2 - :
o Kz, bz 8) 1 T (
(e (i, e} &% LE¥3 P 3) 1
L{i 2y z) -
H 4 24 ¢ Z?_
=0zl el je TEL AT
. e Y_i'
o [Ge] g Box] % Ay
P Xg = e - Z et
L / o | 74
- R
Tactey [0 DA o] e¥ -
s oz L ¥ ( —1y A= ¢
Wey | 0 [ Ce Sl §A-f+’/54' > —
Yee W (At - ‘113 o ALt .
w1 B e tt *&‘z{'—;%{%& . Y s ‘ L o +~C“ 22) ¢ =z
+ e ‘ \“:w "(&@q fc,&.«zf e




#5. _Use the method of undermined coefficients fo'
solve the initial-value problem:
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#1. Use variation of parameters to solve the
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#2. Use variation of parameters to solve the
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#3. Use variation of parameters to solve the
| system: G s
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#4. Use variation of parameters to solve the o & JMQW-“"@‘ " % 5%- ;‘f‘i - i
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#1. Solve the initial-value problem: ' | ]
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#1. Rewrite the following 3%-order differential

B equation as a system of 3 1%-order differential
equations (and also write the initial conditions in
matrix form): ' ' '
ylll__2yll+3yl =9+ex
»(0)=3, »(0)=0, y'(0)=-2
(do not solve the system)
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